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Compound interest

(चक्रवृधि ब्याज)

Concept Lecture – 4



Amounts and CIs form GP:
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If a sum of money at compound interest
amounts to thrice itself in 𝟓 years, then in
how many years will it be 𝟗 times itself?
यदि चक्रवधृि ब्याज पर कोई िनराशि 𝟐
साल में तीन गुणा हो जाती है, तो ककतनी
सालों में यह 𝟗 गुणा होगी?
a) 𝟏𝟓 years b) 𝟏𝟎 years
c) 𝟐𝟓 years d) None of these
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If a sum on CI becomes three times in 𝟒 yr,
then with the same interest rate, the sum will
become 𝟖𝟏 times in:
चक्रवधृि ब्याज से एक राशि 𝟒 वर्ष में 𝟑 गणुा
हो जाती है, तो उसी िर के साथ वह राशि 𝟖𝟏
गुणा ककतने वर्ों में होगी?
a) 𝟏𝟐 yr b) 𝟏𝟖 yr c) 𝟏𝟔 yr d) 𝟏𝟒 yr
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A sum of money doubles itself in 𝟒 years at
compound interest. It will amount to 𝟖
times itself at the same rate of interest in:
चक्रवदृ्धि ब्याज पर 𝟒 वर्ों में एक िनराशि
िोगुनी हो जाती है। यह उसी ब्याज िर पर
राशि की 𝟖 गुना ककतने वर्ों में होगी?
a) 𝟏𝟖 years b) 𝟏𝟐 years
c) 𝟏𝟔 years d) 𝟐𝟒 years
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A sum of money becomes 𝟖 times in 𝟏𝟓
years, when compounded annually. How
much times will it become in 𝟐𝟎 years
𝟏𝟓 वर्ों में एक िनराशि चक्रवधृि ब्याज
लगने पर 𝟖 गुना हो जाती है। उसी िर से
यह 𝟐𝟎 वर्ों में ककतनी गुणा हो जाएगी?
a) 𝟖 b) 𝟏𝟔
c) 𝟐𝟒 d) 𝟒
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At what rate per cent compound interest does
a sum of money become 𝟏𝟔 times in 𝟒 years?
ककतने % वार्र्षक िर पर चक्रवदृ्धि ब्याज द्वारा
कोई राशि 𝟒 वर्ों में 𝟏𝟔 गुणा हो जाती है?
a) 𝟕𝟓% b) 𝟏𝟎𝟎%
c) 𝟓𝟎% d) None of these
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At what rate per cent compound interest does a
sum of money become 𝟖 times in 𝟔 years?
ककतने % वार्र्षक िर पर चक्रवदृ्धि ब्याज द्वारा
कोई राशि 𝟔 वर्ों में 𝟖 गुणा हो जाती है?
a) 𝟓𝟎% b) 𝟏𝟎𝟎%
c) 𝟒𝟏. 𝟒% d) 𝟑𝟖. 𝟕%
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At what rate per cent compound interest does a
sum of money become 𝟖𝟏 times in 𝟖 years?
ककतने % वार्र्षक िर पर चक्रवदृ्धि ब्याज द्वारा
कोई राशि 𝟖 वर्ों में 𝟖𝟏 गुणा हो जाती है?
a) 𝟑𝟑. 𝟑𝟑% b) 𝟏𝟎𝟎%
c) 𝟕𝟑. 𝟐% d) 𝟔𝟗. 𝟒%
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A sum of Rs.𝟏𝟐𝟎𝟎𝟎, deposited at compound
interest becomes double after 𝟓 years. How
much will it be after 𝟐𝟎 years?
चक्रवदृ्धि ब्याज पर जमा ककया गया 𝟏𝟐𝟎𝟎𝟎 रु
की एक िनराशि 𝟓 वर्ों के बाि िोगुना हो
जाती है। 𝟐𝟎 वर्ों बाि यह ककतना होगा?
a) Rs.𝟏𝟒𝟒𝟎𝟎𝟎 b) Rs.𝟏𝟐𝟎𝟎𝟎𝟎
c) Rs.𝟏𝟓𝟎𝟎𝟎𝟎 d) Rs.𝟏𝟗𝟐𝟎𝟎𝟎
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If the amount is 𝟐. 𝟐𝟓 times of the sum after 𝟐
years at compound interest (compounded
annually), the rate of interest per annum is:
यदि एक राशि चक्रवदृ्धि ब्याज (सालाना
चक्रवदृ्धि) पर 𝟐 साल के बाि स्वयं का 𝟐. 𝟐𝟓
गुना हो जाती है, तो ब्याज की िर प्रततवर्ष क्या है?
a) 𝟐𝟓% b) 𝟑𝟎%
c) 𝟒𝟓% d) 𝟓𝟎%
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If a sum of money compounded annually
becomes 𝟏. 𝟒𝟒 times of itself in 𝟐 years,
then the rate of interest per annum is
अगर कोई राशि 𝟐 वर्ष में 𝟏. 𝟒𝟒 गुना हो
जाती है और चक्रवदृ्धि व्याज वार्र्षक लगता
है तो व्याज की िर पता करो|
a) 𝟐𝟓% b) 𝟐𝟐% c) 𝟐𝟏% d) 𝟐𝟎%

SSC CGL 2013 T-2



If in a certain time period, 𝟏𝟎, 𝟎𝟎𝟎 amount to
𝟏𝟔𝟎, 𝟎𝟎𝟎 at CI. What is the amount in half the
time and same rate if principal is 𝟖, 𝟎𝟎𝟎?
ककसी तनश्चचत समय में, 𝟏𝟎𝟎𝟎𝟎 की राशि
चक्रवधृि ब्याज से 𝟏𝟔𝟎, 𝟎𝟎𝟎 हो जाती है| तो
आिे समय में और उसी िर से 𝟖𝟎𝟎𝟎की राशि
ककतनी हो जाएगी?
a) 𝟑𝟐, 𝟎𝟎𝟎 b) 𝟒𝟎, 𝟎𝟎𝟎 c) 𝟔𝟒, 𝟎𝟎𝟎 d) 𝟒𝟖, 𝟎𝟎𝟎
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An amount of money appreciates to Rs.𝟕𝟎𝟎𝟎
after 𝟒 years and to Rs.𝟏𝟎𝟎𝟎𝟎 after 𝟖 years
at a certain compound interest rate
compounded annually. The initial amount of
money was
एक िनराशि एक तनश्चचत वार्र्षक चक्रवदृ्धि
ब्याज के िर पर 𝟒 के वर्ों बाि 𝟕, 𝟎𝟎𝟎 रु
और 𝟖 वर्ों के बाि 𝟏, 𝟎𝟎𝟎𝟎 रु तक हो जाती
है। िरुुआत में ककतनी िनराशि थी?
a) 𝟒𝟕𝟎𝟎 b) 𝟒𝟗𝟎𝟎
c) 𝟒𝟏𝟎𝟎 d) 𝟒𝟑𝟎𝟎
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A sum of money becomes ₹11,880
after 4 years and ₹17,820 after 6 years
on compound interest, if the interest
is compound annually. What is the
half of the sum (in ₹)?
एक िनराशि वार्र्षक रूप से चक्रवदृ्धि
होने वाले चक्रवदृ्धि ब्याज पर, 4 वर्ष के
बाि ₹11,880 और 6 वर्ष के बाि
₹17,820 हो जाती है| उस िनराशि का
आिा भाग (₹ में) ककतना होगा?
a) 𝟐, 𝟓𝟑𝟎 b) 𝟐, 𝟔𝟒𝟎
c) 𝟐 , 𝟕𝟓𝟎 d) 𝟐, 𝟒𝟏𝟎

SSC CGL T-2 2020
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According to C.I., a sum of Rs. 𝟐𝟒𝟎𝟎𝟎
amounts to Rs.𝟓𝟒𝟎𝟎𝟎 in 𝟏𝟐 years. In how
many years does it amounts to Rs.𝟖𝟏𝟎𝟎𝟎?
चक्रवधृि ब्याज की िर से 𝟐𝟒𝟎𝟎𝟎रु की राशि
𝟏𝟐 वर्ो में 𝟓𝟒𝟎𝟎𝟎 रु हो जाती है, तो यह
ककतने वर्ो में 𝟖𝟏𝟎𝟎𝟎रु हो जाएगी?
a) 𝟒𝟖 years b) 𝟐𝟒 years
c) 𝟐𝟏 years d) 𝟏𝟖 years
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The compound interest on Rs. 𝟑𝟎, 𝟎𝟎𝟎 at
𝟕% per annum for n years is Rs. 𝟒𝟑𝟒𝟕. The
value of n is
𝟑𝟎, 𝟎𝟎𝟎 रु की राशि पर 𝟕% वार्र्षक िर से
𝒏 वर्ों के शलए चक्रवशृ्दि ब्याज 𝟒𝟑𝟒𝟕 रु है l
𝒏का मान बताइए ?
a) 𝟑 b) 𝟐 c) 𝟒 d) 𝟓

SSC CGL 2016 T-2
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In how many months will 𝑹𝒔𝟖, 𝟎𝟎𝟎 yield
𝑹𝒔𝟐, 𝟔𝟒𝟖 as compound interest at 𝟐𝟎% per
annum compounded semi-annually?
ककतने महीनों में 𝟖𝟎𝟎𝟎 रूपये पर सालाना
𝟐𝟎% के िर से 𝟐, 𝟔𝟒𝟖 रूपये अिषवार्र्षक
चक्रर्िधि व्याज के रूपये में शमलेंगे?
a) 𝟏𝟖 b) 𝟐𝟒 c) 𝟏𝟐 d) 𝟑𝟎

SSC CGL 2017 T-2
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A sum of Rs 𝟑𝟐𝟎𝟎 invested at 𝟏𝟎% p.a.
compounded quarterly amounts to Rs.
𝟑𝟑𝟔𝟐. Compute the time period.
𝟑𝟐𝟎𝟎 रु एक राशि 𝟏𝟎% वार्र्षक िर से जो
कक हर ततमाही लगती हो, कुछ समय में
𝟑𝟑𝟔𝟐 रु हो आती है| समय पता करो|
a)

𝟏

𝟐
year b) 𝟏 year

c) 𝟐 years d)
𝟑

𝟒
year

SSC CGL 2013 T-2



In how many years, the compound
interest, if compounded annually on
a sum of Rs. 𝟔𝟎, 𝟎𝟎𝟎 at rate of 𝟖%
per annum is Rs. 𝟗, 𝟗𝟖𝟒?
ककतने वर्ो में, वार्र्षक रूप से
चक्रवदृ्धि होने वाली 𝟔𝟎, 𝟎𝟎𝟎 रु. की
िनराशि पर 𝟖% वार्र्षक ब्याज िर
पर, ब्याज के रूप में 𝟗, 𝟗𝟖𝟒 रु. प्राप्त
होंगे?
a) 3 b) 1 c) 4 d) 2

SSC CHSL 2020
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The time in which Rs.𝟖𝟎𝟎𝟎𝟎 amounts to
Rs.𝟗𝟐𝟔𝟏𝟎 at 𝟏𝟎% p.a. at compound interest,
interest being compounded semi-annually is:
ककतने समय में 𝟏𝟎% वार्र्षक चक्रवदृ्धि ब्याज
पर 𝟖𝟎𝟎𝟎𝟎 रु की राशि 𝟗𝟐𝟔𝟏𝟎 रु हो जाता
है, यदि अिष-वार्र्षक रूप से चक्रवदृ्धि ब्याज
दिया जा रहा है:
a) 𝟏

𝟏

𝟐
years b) 𝟐 years

c) 𝟐
𝟏

𝟐
years d) 𝟑 years
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